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Let find the height of the tree by using a triangle using the pole.
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HEBER  -English version-

HEBSR  -English version-
/\ | have a cane in the upper one, and mixes so that four points, ahead of the cane,
ahead of the tree, at the wrist and a wooden root may be piled respectively.Until the
place where | knock down the cane to the side and take on ahead of the cane, and,
the number which multiplies by the length of the cane and has gone out is the height
of the tree. But, even if it'll be to the wooden left at the center where a tree was
knocked down, it may be to the right, so the aim which pulls a straight line to the side
and it's the cane end in the straight line, fitting, adjust, when a corner is judged from
a broken figure, and it's also from a square paper corner 30 centimeters on the other
side here, it's also 30 centimeters a flat part in the side.

A We could express the figure, but we couldn’t express it mathematical.

A

The height of the tree:AB=xcm
The height of the eyes:CD=120cm
tree:BF=7m50cm(=750cm)

The distance of the person from the stick:FC=1m50cm(=150m)

The length of the stick:EF=3m(=300cm)
The distance of the stick from the

In AAEH ©» AEDG, DG:EH=EG:AH.
Because DG is equal to the distance of the person from the stick, DG=1m50cm=150cm.
Because EH is equal to the distance of the stick from the tree, EH=7m50cm=750m.
Because EG is a number obtained by subtracting the height of the eyes from the length of
the stick,

EG=300(cm) — 120(cm)=180(cm).
Because AH is a number obtained by subtracting the length of the stick from the height of
the tree,

AH=x(cm) —300(cm)
So, DG:EH=EG:AH

150:750=180:(x — 300)
150x=180000
x=1200(cm)=12(m)

/\ When it's 50 centimeters to a wooden root as shown in the right figure 7 meters, 3
meters of arm is made at it. | retreat, and 50 centimeters of ahead of arm, end of a
tree and three points are placed in alignment, and 1 meter of eyes meets at 20
centimeters from the ground, and 1 meter is looked through. When dividing the
height upper of the arm by 7 meters and 50 centimeters from which it's 1 meter away
as 80 centimeters, | learn about the height of the top from an arm with 9 meters, add
3 meters of the length of the arm there and learn about the height of the tree with 12
meters.

This is to tell theory. Therefore, the height of the tree is known to be 12m.
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solved by similitude ratio. Because this question was ) : - =7 B
connected to the question of other groups, I changed When I saw this question, I didn’t understand what
information each other and I cooperated and wrestled. wa? ;"’lrt'tte” therg at”f what k'?ddo,f qLiles?ct)Q it was, . A.D.1730
so I felt uneasy. But I cooperated in all of the group w2 R ME

While having a hard time and could solve this
problem and I saw glad and was able to share sense
of accomplishment. Because I know the native
mathematics of Japan by this class for the first time,
and I touched it, and interest about the native
mathematics of Japan deepened, I wanted to untie

other types of problem.
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We couldn’t decipher the one of how to solve one of
the two. Therefore, this is the future task.




